89. Push factors
1. Fill in the gaps.
Whether it’s Tesco trying to break into America or Marks & Spencer pursuing its international strategy, companies that are finding their UK market too ___________________________ often look abroad. This is often a mistake, because it’s better to expand in a position of strength than through weakness. If _________________________ is severe in the UK, it may be better to find a way to _____________________________ your business more successfully than to look for markets elsewhere. Jaguar Land Rover’s huge export success between 2010 and 2015 was built on great new product launches such as the Evoque. That’s the best ____________ factor: when you’re so proud of your product that you can’t wait to find new markets for it. 
Choose missing words from: push, pull, competition, saturated, differentiate
2.  Give one reason why:
2.1 Shareholder expectations of growth may push directors into expansion overseas.
______________________________________________________________________________________
______________________________________________________________________________________

2.2 The ferocious competition in the UK grocery market might tempt Sainsbury to look overseas
______________________________________________________________________________________

______________________________________________________________________________________
3.  Data response
Ryanair has never been considered an innovative company. Yet it revolutionised the way airlines operate in Europe. It slashed operating costs by buying new, fuel efficient planes; it crammed more seats onto a plane than ever before, and it cut out frills such as free meals and drinks. This was a skilful use of process innovation. Today Ryanair is by far the biggest carrier of air passengers in Europe, using the same innovative business model across Europe. 
	
	Ryanair
	easyJet
	Air France

	Number of flights per plane per day
	6
	4
	2

	Non-flying support staff per flight
	2
	4
	7

	Catering profit per passenger
	£3
	-£0.50
	-£8


3.1 Explain how two of the factors shown in the data table could have helped in Ryanair’s success.

______________________________________________________________________________________

______________________________________________________________________________________ 
______________________________________________________________________________________
______________________________________________________________________________________

3.2 Identify and explain one factor from the data table that might prove a downside for Ryanair customers.  
______________________________________________________________________________________
______________________________________________________________________________________

3.3 Ryanair was originally a small carrier from Ireland to England. Explain two push factors that may have kickstarted the company’s rise to become Europe’s Number 1 airline (by volume)?
______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________
89. ANSWERS: Push factors
1. saturated … competition … differentiate … push
2.1 Shareholder expectations of growth may push directors into expansion overseas.

· If the home market is saturated or your own product is entering its maturity stage, looking overseas may be the only realistic option to achieve the owners’ ambitions

2.2 The ferocious competition in the UK grocery market might tempt Sainsbury to look overseas

· In the UK grocery sector the worrying thing is that it’s hard to see the current battles ending soon. (Aldi and Lidl are expanding into an already-saturated market – so profitability will be a struggle for all). So it would be understandable if Sainsbury looked wistfully at opportunities in, say, India
3i. Flying more times a day spreads all the overheads (wages, depreciation on the plane, advertising etc) over more revenue, therefore pushing down the average cost of flying each passenger

3ii. Making a catering profit instead of a loss enables Ryanair to offer customers lower prices than airlines such as Air France.

3.2 Low numbers of support staff keeps costs down, but means Ryanair may find it hard to offer the levels of customer service that other airlines can provide, e.g. help to passengers when bad weather stops planes from flying.

3.3 Ryanair was originally a small carrier from Ireland to England. Explain two push factors that may have kickstarted the company’s rise to become Europe’s Number 1 airline (by volume)?

· Management may have been concerned about the scope for saturation of a market as specific as Ireland to England – and therefore looked elsewhere for growth

· They may also have been worried about the level of competition on that route – believing in the scope for higher profitability by innovating with brand new routes
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